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MEAN AND MEDIAN

1. The heights of 6 boys are 146 cm, 154 cm, 153
cm, 160 cm, 157 cm and 160 cm. Find their

mean height.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yCix48EjVgXW

° Watch Video Solution

2. Find the mean of all prime numbers

between 20 and 50.

o Watch Video Solution

3. Find the mean (&) of first 5 even natural

numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_yCix48EjVgXW
https://dl.doubtnut.com/l/_vwH1GCQoj5y7
https://dl.doubtnut.com/l/_QjrtjTbGOw5d
https://dl.doubtnut.com/l/_N542ZyvlplqI

4. Find the sum of the deviations of the data

4,5,7,9 and 15 from their mean.

o Watch Video Solution

5. Find the mean of 5,6,17,8,9,15,23,18,10 and 24.

o Watch Video Solution

6. Find the resulting mean, if each observation,

given above, is :


https://dl.doubtnut.com/l/_N542ZyvlplqI
https://dl.doubtnut.com/l/_ug0N7m6fqDis
https://dl.doubtnut.com/l/_OI7yiWsa6Nrp

(1) increased by 3. (ii) decreased by 2.

(i) multiplied by 4. (iv) divided by 5.

° Watch Video Solution

7.The mean of 7,5,8,p and 11 is 8. Find the value

of p.

o Watch Video Solution

8. The mean of 40 observations was 160. It was

detected that the value of 165 was wrongly


https://dl.doubtnut.com/l/_OI7yiWsa6Nrp
https://dl.doubtnut.com/l/_PdG7xk8wz21V
https://dl.doubtnut.com/l/_H15oKLKtCizf

copied as 125. Find the correct mean.

o Watch Video Solution

9. The mean of 100 observations was found to
be 30. If two observations were wrongly taken
as 32 and 12 instead of 23 and 11, find the

correct mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_H15oKLKtCizf
https://dl.doubtnut.com/l/_IBZRDu67GArs

10. The mean monthly salary of 10 people is Rs.
2,890. One more person whose monthly salary
is Rs. 3,000 has also been taken into
consideration. Find the mean monthly salary

of all the 11 people.

o Watch Video Solution

11. Mean of 15 observations is 200. If one

observation is excluded, the mean of


https://dl.doubtnut.com/l/_E709DzvR2pEZ
https://dl.doubtnut.com/l/_DnwUEK8pZb1U

remaining observations is 198.Find the value of

the excluded observation.

° Watch Video Solution

12. Out of 25 numbers, the mean of 15
numbers is 36 and the mean of the remaining
numbers is 26, find the mean of all the 25

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_DnwUEK8pZb1U
https://dl.doubtnut.com/l/_l1lKaAyRO9ko

13. Find the median of : 18, 30, 39, 36, 28, 27, 31,

40, 33, 25 and 37.

o Watch Video Solution

14. Find the median of

34,47,41,52,53,56,35,49,55 and 42.

o Watch Video Solution



https://dl.doubtnut.com/l/_yzWlusj6h25g
https://dl.doubtnut.com/l/_A5G9Di9kVGpj

15. The weight of 12 students (in kg) are :
40,61,54,50,59,37,51,41,48,62,46 and 34.

Find the median weight.

If the weight of 62 kg is replaced by 35 kg, find

the new median weight.

o Watch Video Solution

16. The median of the following observations
arranged in ascending order, is 20. Find x.

3,4,7,8,10,18 x+2 ,x+4,26,28,31,36,38 and 40.

| & I


https://dl.doubtnut.com/l/_7m3B5Hj3EYHw
https://dl.doubtnut.com/l/_jG0MsxkMAzvv

| ¥ Watch Video Solution |

17. The heights of 6 boys are 146 cm, 154 cm,
153 ¢cm, 160 cm, 157 cm and 160 cm. Find their

mean height.

o Watch Video Solution

18. Find the mean of all prime numbers

between 20 and 50.

o Watch Video Solution



https://dl.doubtnut.com/l/_jG0MsxkMAzvv
https://dl.doubtnut.com/l/_ELYmLUQ1IGWe
https://dl.doubtnut.com/l/_kSSqrwnelMwT

19. Find the mean (&) of first 5 even natural

numbers.

o Watch Video Solution

20. Find the sum of the deviations of the data

4,579 and 15 from their mean.

o Watch Video Solution

21. Find the mean of 5,6,17,8,9,15,23,18,10 and 24.



https://dl.doubtnut.com/l/_pPAdOyyd2zUp
https://dl.doubtnut.com/l/_NYInXsZWzeOW
https://dl.doubtnut.com/l/_Xgh1C5d4JDHF

o Watch Video Solution

22. Find the resulting mean, if each
observation, given above, is :
(1) increased by 3. (ii) decreased by 2.

(iii) multiplied by 4. (iv) divided by 5.

° Watch Video Solution

23. The mean of 7,58,p and 11 is 8. Find the

value of p.

| & I


https://dl.doubtnut.com/l/_Xgh1C5d4JDHF
https://dl.doubtnut.com/l/_s3JmwwWy0ILB
https://dl.doubtnut.com/l/_TIfkVepLcoae

| ¥ Watch Video Solution |

24. The mean of 40 observations was 160. It
was detected that the value of 165 was

wrongly copied as 125. Find the correct mean.

o Watch Video Solution

25. The mean of 100 observations was found
to be 30. If two observations were wrongly
taken as 32 and 12 instead of 23 and 11, find

the correct mean.


https://dl.doubtnut.com/l/_TIfkVepLcoae
https://dl.doubtnut.com/l/_0dA3GcORivuk
https://dl.doubtnut.com/l/_rYaGJPEnvqIS

° Watch Video Solution

26. The mean minthly salary of 10 people is Rs.
2,890. One more person whose monthly salary
is Rs. 3,000 has also been taken into
consideration. Find the mean monthly salary

of all the 11 people.

° Watch Video Solution



https://dl.doubtnut.com/l/_rYaGJPEnvqIS
https://dl.doubtnut.com/l/_ErBmELKs3uS9

27. Mean of 15 observations is 200. If one
observation is excluded, the mean of
remaining observations is 198.Find the value of

the excluded observation.

o Watch Video Solution

28. Out of 25 numbers, the mean of 15
numbers is 36 and the mean of the remaining
numbers is 26, find the mean of all the 25

numbers.

| & I


https://dl.doubtnut.com/l/_GkdgEp0y0mDO
https://dl.doubtnut.com/l/_3OR8b636kBDN

| ¥ Watch Video Solution |

29. Find the median of : 18, 30, 39, 36, 28, 27, 31,

40, 33, 25 and 37.

o Watch Video Solution

30. Find the median of

34,47,41,52,53,56,35,49,55 and 42.

o Watch Video Solution



https://dl.doubtnut.com/l/_3OR8b636kBDN
https://dl.doubtnut.com/l/_PjKIpHIr8RpC
https://dl.doubtnut.com/l/_zqh7fx7ewuvX
https://dl.doubtnut.com/l/_ACcpZQWfrvH7

31. The weight of 12 students (in kg) are :
40,61,54,50,59,37,51,41,48,62,46 and 34.

Find the median weight.

If the weight of 62 kg is replaced by 35 kg, find

the new median weight.

o Watch Video Solution

32. The median of the following observations
arranged in ascending order, is 20. Find x.

3,4,7,8,10,18 x+2 ,x+4,26,28,31,36,38 and 40.

o Watch Video Solution



https://dl.doubtnut.com/l/_ACcpZQWfrvH7
https://dl.doubtnut.com/l/_TGWYilBttQPJ

Exercise 19 A

1. Find the mean of 43, 51, 50, 57 and 54.

° Watch Video Solution

2. Find the mean of first six natural numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_TGWYilBttQPJ
https://dl.doubtnut.com/l/_JCrAfAs9fFwv
https://dl.doubtnut.com/l/_3OC9GtDKKAlZ

3. Find the mean of first ten odd natural

numbers.

o Watch Video Solution

4. Find the mean of all factors of 10.

o Watch Video Solution

5. Find the mean of

x+3,z+5x+7,x+9and xz + 11.



https://dl.doubtnut.com/l/_RqTFYk1hh246
https://dl.doubtnut.com/l/_gRXXf39pXct1
https://dl.doubtnut.com/l/_tSSBy37XqBCm

o Watch Video Solution

6. If different values of variable x are 9.8, 5.4 ,
3.7,17,18,26,2.8,10.5 and 11.1, find

the mean

o Watch Video Solution

7. If different values of variable x are

9-8,5-4,3-71-7,1-8,2-6,2-8,8-6,10-5


https://dl.doubtnut.com/l/_tSSBy37XqBCm
https://dl.doubtnut.com/l/_wdEpGqRgajlx
https://dl.doubtnut.com/l/_6Gm6ZH95mipu

and 11 - 1, find

the value of ¥(x — )

° Watch Video Solution

8. The mean of 15 observations is 32. Find the
resulting mean, if each observation is

increased by 3

° Watch Video Solution



https://dl.doubtnut.com/l/_6Gm6ZH95mipu
https://dl.doubtnut.com/l/_iahe1I3mEiSw

9. The mean of 15 observations is 32. Find the
resulting mean, if each observation is

decreased by 7

o Watch Video Solution

10. The mean of 15 observations is 32. Find the
resulting mean, if each observation is

multiplied by 2

o Watch Video Solution



https://dl.doubtnut.com/l/_nHEZAC2kdRHn
https://dl.doubtnut.com/l/_RVRt0ZL6bccu
https://dl.doubtnut.com/l/_yR6vpGf0uW5E

11. The mean of 15 observations is 32. Find the
resulting mean, if each observation is divided

by0 -5

o Watch Video Solution

12. The mean of 15 observations is 32. Find the
resulting mean, if each observation is

increased by 60 %

o Watch Video Solution



https://dl.doubtnut.com/l/_yR6vpGf0uW5E
https://dl.doubtnut.com/l/_7TrZqVbUKL4O
https://dl.doubtnut.com/l/_FpX6LC8KencE

13. The mean of 15 observations is 32. Find the
resulting mean, if each observation is

decreased by 20 %

o Watch Video Solution

14. The mean of 5 numbers is 18. If one number
is excluded, the mean of remaining numbers

becomes 16. Find the excluded number.

o Watch Video Solution



https://dl.doubtnut.com/l/_FpX6LC8KencE
https://dl.doubtnut.com/l/_gLKJWjmI3G5N

15. If the mean of  observations
x,r+ 2,z + 4, + 6and x + 8is 11, find the

value of x

o Watch Video Solution

16. If the mean of  observations
x,r+ 2,z + 4, + 6and x + 8is 11, find the

mean of the first three obervations.

o Watch Video Solution



https://dl.doubtnut.com/l/_UV7jBLdEqP5U
https://dl.doubtnut.com/l/_VI2ngok2TemQ
https://dl.doubtnut.com/l/_vH3cA9ZZZKEp

17. The mean of 100 observations is 40. It is

found that an observation 53 was misread as

83. Find the correct mean.

o Watch Video Solution

18. The mean of 200 items was 50. Later on, it
was discovered that two items were misread
as 92 and 8 instead of 192 and 88. Find the

correct mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_vH3cA9ZZZKEp
https://dl.doubtnut.com/l/_MYyVCZrlbonQ

19. Find the mean of 75 numbers, if the mean
of 45 of them is 18 and the mean of the

remaining ones is 13.

o Watch Video Solution

20. The mean weight of 120 students of a
school is 52 - 75 kg. If the mean weight of 50
of them is 51 kg, find the mean weight of the

remaining students.

° Watch Video Solution



https://dl.doubtnut.com/l/_WviquH7aHPmz
https://dl.doubtnut.com/l/_VeGkRQSWutXN

21. The mean marks (out of 100) of boys and
girls in an examination are 70 and 73
respectively. If the mean marks of all the
students in that examination is 71, find the
ratio of the number of boys the number of

girls.

o Watch Video Solution

22.Find x, if 9,x,14,18,x,x,8,10 and 4 have a mean

of 11.


https://dl.doubtnut.com/l/_VeGkRQSWutXN
https://dl.doubtnut.com/l/_AgiaimAal8nT
https://dl.doubtnut.com/l/_bsQzxIynQm4w

° Watch Video Solution

23. In a series of tests, A appeared for 8 tests
Each test was marked out of 30 and averages
25. However, while checking his files, A could
only find 7 of the 8 tests. For these he scored
29 26, 18 ,20, 27, 24 and 29. Determine how

many marks he scored for the eighth test.

° Watch Video Solution



https://dl.doubtnut.com/l/_bsQzxIynQm4w
https://dl.doubtnut.com/l/_oFeieQHF0zFl

24. Find the mean of 43, 51, 50, 57 and 54.

o Watch Video Solution

25. Find the mean of first six natural numbers.

o Watch Video Solution

26. Find the mean of first ten odd natural

numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_0zEUauOMg33f
https://dl.doubtnut.com/l/_AimgezS0hEuF
https://dl.doubtnut.com/l/_CqZLpqmacYHv

27. Find the mean of all factors of 10.

° Watch Video Solution

28. Find the mean

x+3,z+5x+7,x+9and xz + 11.

of

o Watch Video Solution



https://dl.doubtnut.com/l/_CqZLpqmacYHv
https://dl.doubtnut.com/l/_OXX8TOAaX3DR
https://dl.doubtnut.com/l/_PdhJz1bHGOXj

29. If different values of variable x are
9.8,5-43-7,1-7,1-8,2-6,2-88-6,10-5
and 11 - 1, find

the mean z

o Watch Video Solution

30. If different values of variable x are
9.-85-4,3-7,1-7,1-8,2-6,2-8,8-6,10-5
and 11 - 1, find

the value of ¥(x — )

| & I


https://dl.doubtnut.com/l/_MFZLFYZT1pMd
https://dl.doubtnut.com/l/_98TeD9QQ0Nul

| ¥ Watch Video Solution |

31. The mean of 15 observations is 32. Find the
resulting mean, if each observation is

increased by 3

o Watch Video Solution

32. The mean of 15 observations is 32. Find the
resulting mean, if each observation is

decreased by 7

o Watch Video Solution



https://dl.doubtnut.com/l/_98TeD9QQ0Nul
https://dl.doubtnut.com/l/_rs29vpaDiqx7
https://dl.doubtnut.com/l/_2AJWAh1ySgre

33. The mean of 15 observations is 32. Find the
resulting mean, if each observation is

multiplied by 2

o Watch Video Solution

34. The mean of 15 observations is 32. Find the

resulting mean, if each observation is divided

by0- 5

o Watch Video Solution



https://dl.doubtnut.com/l/_2AJWAh1ySgre
https://dl.doubtnut.com/l/_KyzHvZtyZi7p
https://dl.doubtnut.com/l/_qkMRDNYK0nMg

35. The mean of 15 observations is 32. Find the

resulting mean, if each observation is :

increased by 60 %

o Watch Video Solution

36. The mean of 15 observations is 32. Find the

resulting mean, if each observation is :

decreased by 20 %

o Watch Video Solution



https://dl.doubtnut.com/l/_qkMRDNYK0nMg
https://dl.doubtnut.com/l/_usbtoRNqVcez
https://dl.doubtnut.com/l/_iiDwvCYG4aFk

37. The mean of 5 numbers is 18. If one number
is excluded, the mean of remaining numbers

becomes 16. Find the excluded number.

o Watch Video Solution

38. If the mean of  observations
x,t+2,x+4,xz+6andx + 8is 11, find :

the value of x,

o Watch Video Solution



https://dl.doubtnut.com/l/_P2ZfIhOelM46
https://dl.doubtnut.com/l/_9reDZFEMtHv9
https://dl.doubtnut.com/l/_bBkxRxeskEqo

39. If the mean of  observations
x,t+2,x+4,xz+6andx + 8is 11, find :

the mean of the first three obervations.

o Watch Video Solution

40. The mean of 100 observations is 40. It is

found that an observation 53 was misread as

83. Find the correct mean.

o Watch Video Solution



https://dl.doubtnut.com/l/_bBkxRxeskEqo
https://dl.doubtnut.com/l/_ZeYXvZRlTE9h
https://dl.doubtnut.com/l/_M0koG0Es0tOG

41. The mean of 200 items was 50. Later on, it
was discovered that two items were misread
as 92 and 8 instead of 192 and 88. Find the

correct mean.

° Watch Video Solution

42. Find the mean of 75 numbers, if the mean
of 45 of them is 18 and the mean of the

remaining ones is 13.

° Watch Video Solution



https://dl.doubtnut.com/l/_M0koG0Es0tOG
https://dl.doubtnut.com/l/_h2bqfvNUZ9W2
https://dl.doubtnut.com/l/_sy4AgmifMsIf

43. The mean weight of 120 students of a
school is 52 - 75 kg. If the mean weight of 50
of them is 51 kg, find the mean weight of the

remaining students.

o Watch Video Solution

44, The mean marks (out of 100) of boys and
girls in an examination are 70 and 73
respectively. If the mean marks of all the

students in that examination is 71, find the


https://dl.doubtnut.com/l/_sy4AgmifMsIf
https://dl.doubtnut.com/l/_aapae3PJn37O

ratio of the number of boys the number of

girls.

° Watch Video Solution

45. Find x, if 9,x,14,18,x,x,3,10 and 4 have a mean

of 11.

o Watch Video Solution

46. In a series of tests, A appeared for 8 tests

Each test was marked out of 30 and averages


https://dl.doubtnut.com/l/_aapae3PJn37O
https://dl.doubtnut.com/l/_Ozf4N7CE572r
https://dl.doubtnut.com/l/_1T1FM107YqyS

25. However, while checking his files, A could
only find 7 of the 8 tests. For these he scored
29 26, 18 ,20, 27, 24 and 29. Determine how

many marks he scored for the eighth test.

° Watch Video Solution

Exercise 19 B

1. Find the median of 25,16,26, 16, 32, 31, 19, 28

and 35

o Watch Video Solution



https://dl.doubtnut.com/l/_1T1FM107YqyS
https://dl.doubtnut.com/l/_0iYJV3fgMjmx

2. Find the median of

241,243 347,350,327,299,261,292,271,258 and 257

° Watch Video Solution

3. Find the median of 63, 17, 50, 9, 25, 43, 21, 50,

14 and 34

o Watch Video Solution



https://dl.doubtnut.com/l/_0iYJV3fgMjmx
https://dl.doubtnut.com/l/_580JzbLQdZyS
https://dl.doubtnut.com/l/_M1XRhZ9vtmqF

4. Find the median of 233, 173, 189, 208, 194,

204,194,185, 200 and 220

° Watch Video Solution

5. The following data have been arranged in
ascending order. If their median is 63, find the

value of x. 34,37,53,55,x,x+2,77,83,89 and 100.

° Watch Video Solution



https://dl.doubtnut.com/l/_HSZsKbHt1l1N
https://dl.doubtnut.com/l/_tSZZ7t6kW2mB

6.In 10 numbers, arranged in increasing order,
the 7™ number is increased by 8, how much

will the median be changed ?

o Watch Video Solution

7. Out of 10 students, who appeared in a test,
three secured less than 30 marks and 3
secured more than 75 marks. The marks

secured by the remaining 4 students are 35,


https://dl.doubtnut.com/l/_Tvk0VgNlYk8W
https://dl.doubtnut.com/l/_ih6O9svftYUK

48, 66 and 40. Find the median score of the

whole group.

° Watch Video Solution

8. The median of observations 10, 11, 13, 17,
x +5,20,22,24 and 53 (arranged in

ascending order) is 18, find the value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_ih6O9svftYUK
https://dl.doubtnut.com/l/_OKvgevAsYB9y

9. Find the median of:

25,16,26, 16, 32, 31,19, 28 and 35

o Watch Video Solution

10. Find the median of :

241,243,347,350,327,299,261,292,271,258 and 257

o Watch Video Solution



https://dl.doubtnut.com/l/_SI0MTpGCzfc6
https://dl.doubtnut.com/l/_kPd0k4mIASLJ

11. Find the median of :

63,17, 50,9, 25, 43, 21, 50, 14 and 34

o Watch Video Solution

12. Find the median of:
233, 173, 189, 208, 194, 204, 194, 185, 200 and

220

o Watch Video Solution



https://dl.doubtnut.com/l/_192jm1FCwhpr
https://dl.doubtnut.com/l/_9CZgSXxhwJFj

13. The following data have been arranged in
ascending order. If their median is 63, find the

value of x.

34,37,53,55x,x+2,77,83,89 and 100.

° Watch Video Solution

14. In 10 numbers, arranged in increasing
order, the 7" number is increased by 8, how

much will the median be changed ?

° Watch Video Solution



https://dl.doubtnut.com/l/_cBba83LuciTP
https://dl.doubtnut.com/l/_U811Nn7p8ooU

15. Out of 10 students, who appeared in a test,
three secured less than 30 marks and 3
secured more than 75 marks. The marks
secured by the remaining 4 students are 35,
48, 66 and 40. Find the median score of the

whole group.

o Watch Video Solution

16. The median of observations 10, 11, 13, 17,

x +5,20,22,24 and 53 (arranged in


https://dl.doubtnut.com/l/_U811Nn7p8ooU
https://dl.doubtnut.com/l/_erMrzjsUfM8q
https://dl.doubtnut.com/l/_DNWVXETF3rdn

ascending order) is 18, find the value of x.

o Watch Video Solution

Exercise 19 C

1. Find the mean of 8, 12, 16, 22, 10 and 4. Find

the resulting mean, if each of the

observations, given above, be multiplied by 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_DNWVXETF3rdn
https://dl.doubtnut.com/l/_JPcteMSgPgwM

2.Find the mean of 8, 12, 16, 22, 10 and 4. Find
the resulting mean, if each of the

observations, given above, be divided by 2.

o Watch Video Solution

3. Find the mean of 8, 12, 16, 22, 10 and 4. Find
the resulting mean, if each of the

observations, given above, be multiplied by 3

and then divided by 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_ff1Kz19tQWmK
https://dl.doubtnut.com/l/_M3vixUtXvjj0

4.Find the mean of 8, 12, 16, 22, 10 and 4. Find
the resulting mean, if each of the

observations, given above, be increased by

25 % .

o Watch Video Solution

5.Find the mean of 8, 12, 16, 22, 10 and 4. Find
the resulting mean, if each of the

observations, given above, be decreased by

40 % .


https://dl.doubtnut.com/l/_M3vixUtXvjj0
https://dl.doubtnut.com/l/_BQX86I9wDct0
https://dl.doubtnut.com/l/_sLnwjfa4K0rv

° Watch Video Solution

6. The mean of 18,2415, 2x + 1 and 12 is 21.

Find the value of x.

o Watch Video Solution

7. The mean of 6 numbers is 42. If one number
is excluded, the mean of remaining numbers is

45. Find the excluded number.

o Watch Video Solution



https://dl.doubtnut.com/l/_sLnwjfa4K0rv
https://dl.doubtnut.com/l/_hltIf3hfHI1s
https://dl.doubtnut.com/l/_yVaeoodi2JlW

8. The mean of 10 numbers is 24. If one more
number is included, the new mean is 25. Find

the included number.

° Watch Video Solution

9. The following observations have been
arranged in acending order. If the median of
the data is 78, find the value of x.

44,47,63, 65,z + 13, 87,93, 99, 110.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_yVaeoodi2JlW
https://dl.doubtnut.com/l/_b8xebSEV7WwT
https://dl.doubtnut.com/l/_PH6mTNfEw195

10. The following observations have been
arranged in ascending order. If the median of
these observations is 58, find the value of x.

24274348,z — 1,z 4+ 3, 68, 73 80, 90.

° Watch Video Solution

11. Find the mean of the following data :

30,32,24,34, 26,28, 30, 35, 33, 25


https://dl.doubtnut.com/l/_PH6mTNfEw195
https://dl.doubtnut.com/l/_iHWWzAhuApSq
https://dl.doubtnut.com/l/_ocRj5lp1fKmO

Show that the sum of the deviations of all the

given observations from the mean is zero.

° Watch Video Solution

12. Find the mean of the following data:
30,32,24 34, 26,28, 30, 35, 33, 25

Find the median of the given data.

° Watch Video Solution



https://dl.doubtnut.com/l/_ocRj5lp1fKmO
https://dl.doubtnut.com/l/_pVwFbVDf1Lqi

13. Find the mean and median of the data :
35, 48,92, 76,64, 52, 51,63 and 71.
If 51 is replaced by 66, what will be the new

median ?

° Watch Video Solution

14. The mean of z,z + 2,z +4,x + 6 and
xz + 8 is 11, find the mean of the first three

observations.

° Watch Video Solution



https://dl.doubtnut.com/l/_OxxHadbz05lG
https://dl.doubtnut.com/l/_nC90iLSKPVuQ

15. Find the mean and median of all the

positive factors of 72.

o Watch Video Solution

16. The mean weight of 60 students in a class
is 40 kg. The mean weight of boys is 50 kg
while that of girls is 30 kg. Find the number of

boys and girls in the class.

° Watch Video Solution



https://dl.doubtnut.com/l/_nC90iLSKPVuQ
https://dl.doubtnut.com/l/_YkBgKZv4jTKd
https://dl.doubtnut.com/l/_cuEpUdP5XtcV

7. The average of n numbers
L1, Ly T3e o .. , Tpn 1S A. If 1 is replaced by
(z 4+ a)x, x5 is replaced by (z 4+ a)zy and so

on. Find the new average.

o Watch Video Solution

18. The heights (in cm) of the volley-ball
players from team A and term B were recorded

as

Team A: 180, 178, 176, 181, 190, 175, 187


https://dl.doubtnut.com/l/_Nbs7MSRq2ec3
https://dl.doubtnut.com/l/_1qtRzE3JJYHG

Team B : 174,175,190, 179, 178, 185, 177
Which team had the greater average height ?

Find the median of team A and team B.

o Watch Video Solution

19. Find the mean of 8, 12, 16, 22, 10 and 4. Find
the resulting mean, if each of the
observations, given above, be :

multiplied by 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_1qtRzE3JJYHG
https://dl.doubtnut.com/l/_Jp27nOrQxWWI
https://dl.doubtnut.com/l/_xUqXlpSDvKCv

20. Find the mean of 8, 12, 16, 22, 10 and 4. Find
the resulting mean, if each of the

observations, given above, be :

divided by 2.

° Watch Video Solution

21. Find the mean of 8, 12, 16, 22, 10 and 4. Find
the resulting mean, if each of the

observations, given above, be :

multiplied by 3 and then divided by 2.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_xUqXlpSDvKCv
https://dl.doubtnut.com/l/_cl9hxsbc4daR

22.Find the mean of 8, 12, 16, 22, 10 and 4. Find
the resulting mean, if each of the

observations, given above, be :

increased by 25 % .

° Watch Video Solution

23.Find the mean of 8, 12, 16, 22, 10 and 4. Find

the resulting mean, if each of the


https://dl.doubtnut.com/l/_cl9hxsbc4daR
https://dl.doubtnut.com/l/_csG8Dq7DdAXA
https://dl.doubtnut.com/l/_AakK2prLx9tN

observations, given above, be :

decreased by 40 % .

° Watch Video Solution

24. The mean of 18,2415, 2x + 1 and 12 is 21.

Find the value of x.

o Watch Video Solution

25. The mean of 6 numbers is 42. If one

number is excluded, the mean of remaining


https://dl.doubtnut.com/l/_AakK2prLx9tN
https://dl.doubtnut.com/l/_1rwZjOfLvqvQ
https://dl.doubtnut.com/l/_sjymbxNRjsmn

numbers is 45. Find the excluded number.

o Watch Video Solution

26. The mean of 10 numbers is 24. If one more
number is included, the new mean is 25. Find

the included number.

o Watch Video Solution

27. The following observations have been

arranged in acending order. If the median of


https://dl.doubtnut.com/l/_sjymbxNRjsmn
https://dl.doubtnut.com/l/_1rmLgqP8esAB
https://dl.doubtnut.com/l/_AFemshAYbT0A

the data is 78, find the value of x.

44,47,63,65,x + 13, 87,93, 99, 110.

o Watch Video Solution

28. The following observations have been
arranged in ascending order. If the median of
these observations is 58, find the value of x.

24274348,z — 1,z 4+ 3, 68, 73 80, 90.

o Watch Video Solution



https://dl.doubtnut.com/l/_AFemshAYbT0A
https://dl.doubtnut.com/l/_rtLEEVEPIYmg

29. Find the mean of the following data:
30,32,24,34, 26,28, 30, 35, 33, 25
Show that the sum of the deviations of all the

given observations from the mean is zero.

° Watch Video Solution

30. Find the mean of the following data :
30,32,24,34, 26,28, 30, 35, 33, 25

Find the median of the given data.

° Watch Video Solution



https://dl.doubtnut.com/l/_m8Gs3eeWj5Ru
https://dl.doubtnut.com/l/_ZfOjhmqL5n5y

31. Find the mean and median of the data:
35, 48,92, 76,64, 52, 51, 63 and 71.
If 51 is replaced by 66, what will be the new

median ?

o Watch Video Solution

32. The mean of z,z + 2,z + 4,2 + 6 and
xz + 8 is 11, find the mean of the first three

observations.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZfOjhmqL5n5y
https://dl.doubtnut.com/l/_dZ8QFeOubtsq
https://dl.doubtnut.com/l/_T9oxjXvhcREa

33. Find the mean and median of all the

positive factors of 72.

° Watch Video Solution

34. The mean weight of 60 students in a class
is 40 kg. The mean weight of boys is 50 kg
while that of girls is 30 kg. Find the number of

boys and girls in the class.

o Watch Video Solution



https://dl.doubtnut.com/l/_T9oxjXvhcREa
https://dl.doubtnut.com/l/_GqIpqFtZTozx
https://dl.doubtnut.com/l/_TIpmPFT0EszW

35, The average of n numbers
L1, Ly T3e o .. , Tpn 1S A. If 1 is replaced by
(z 4+ a)x, x5 is replaced by (z 4+ a)zy and so

on. Find the new average.

o Watch Video Solution

36. The heights (in cm) of the volley-ball
players from team A and term B were recorded

as

Team A: 180, 178, 176, 181, 190, 175, 187


https://dl.doubtnut.com/l/_TIpmPFT0EszW
https://dl.doubtnut.com/l/_wMs1QYPQStjo
https://dl.doubtnut.com/l/_3a7ZrcgiI7Uq

Team B : 174,175,190, 179, 178, 185, 177
Which team had the greater average height ?

Find the median of team A and team B.

o Watch Video Solution



https://dl.doubtnut.com/l/_3a7ZrcgiI7Uq

